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Deklarasi

struct Queue{
int Count;
int Front;
int Rear;
int Item[MAXQUEUE];

};
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Inisialisasi

void Inisialisasi(struct Queue *q)
{
q->Front = q->Rear = -1;
q->Count = 0;

} 



Full

int Full(struct Queue *q)
{
return(q->Count == MAXQUEUE);

} 



Empty

int Empty(struct Queue *q)
{
return(q->Count == 0);

} 



Coding : Enqueue

void Enqueue(int x, Queue *Q)
{

if (Full)
printf("Tidak dapat memasukkan data! Queue 

Penuh!");
else {

if ((Q->Front==-1) && (Q->Rear==-1))
Q->Front=Q->Rear=0;

else
{

Q->Rear = (Q->Rear + 1) % MAXQUEUE;
Q->Item[Q->Rear] = x;
++(Q->Count);

}
}



Coding : Dequeue
void Dequeue(Queue *Q, int *x)
{
if (Empty)

printf("Tidak dapat mengambil data! Queue 
Kosong!");
else {

*x = Q->Item[Q->Front];
if ((Q->Front==Q->Rear)

Q->Front=Q->Rear=-1;
Q->Front = (Q->Front + 1) % MAXQUEUE;
--(Q->Count);

}
}



Coding : Dequeue
int Dequeue(Queue *Q)
{
int temp;
if (Empty)

printf("Tidak dapat mengambil data! Queue 
Kosong!");
else {

return Q->Item[Q->Front];
if ((Q->Front==Q->Rear)

Q->Front=Q->Rear=-1;
Q->Front = (Q->Front + 1) % MAXQUEUE;
--(Q->Count);
//return temp;

}
}
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Shift 1x(Dequeue)
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Shift 1x(Enqueue)
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